Bridging summer work 2024
Averages

1) Fill in the definition for each different type of average. 
	Average
	Definition

	Mean
	

	Mode
	

	Median
	

	Range
	

	IQR
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3) A teacher surveys a group of students.
He asks how much pocket money they receive each week. They respond:
                  £5 £8  £4  £50  £6  £8  £7.50  £10  £8  £7
(a) Work out the median

(b) Work out the mean

(c) Which average, the median or the mean, is most suitable for this data?



4) James plays six games of darts.
His scores are 120, 71, 80, 14, 90, 117

Should James use the mean or the median to give him the highest average score?



5) Five numbers have a range of 14.
Four of the numbers are 20, 22, 31 and 25.
Work out the two different possible values for the fifth number.




6) Estimate the median and IQR of the cumulative frequency graph below:
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5 The table shows some information about the heights, in cm, of some tomato plants in Maggie's garden.

(a) Draw a box plot for this information.

Height (cm)

There are also tomato plants in Nigel's garden.
The box plot below shows the distribution of the heights of Nigel's tomato plants.

Height (cm)

(b) Compare the distribution of the heights of Maggie's plants with the distribution of height of Nigel's

(Total for question 5 is 4 marks)
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The table gives information about the hours Easyair pilots have spent flying, ¢

hours.
Time (t hours) Frequency
0<t<100 24
100 < 1< 150 21
150 < t < 200 17
200 < t< 350 24
350 < t < 500 9

(a) Draw a histogram to show this information.
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(b) Estimate the number of Easyair pilots who have flown under 50 hours.
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The histogram shows information about how far 150 children swam, when trying
to get their swimming certificates.
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(a) Complete this frequency table.

Length, | metres Frequency
0<1<20 30
20<1<40
40<1<50 25
50 <1< 60
60 <1<100 24

(b) 10% of the swimmers swam further than y metres.

Calculate an estimate of y.
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Here are the heights, in cm, of 8 people.

155 171 164 171

(a) Work out the range.

(b) Find the mode.

(c) Calculate the mean.
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The times, in seconds, of 15 students running a race are recorded below.

52 54 54 55 58 58 59 60 60 61 61 64 67 70
Draw a box plot for this information.
50 55 60 65 70 75 80

Time (s)

75




